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‘ - Paper Code : BBA-202
: MATHEMATICS-H , :
, TtmeAllotted 3 Hours o ' Full Marks 70

‘The ﬁgures in. the margin indlcate full marks

Candldates are requtred to glve thetr answers in thetr own
words as far as practlcable '

R o (Mult!ple CholceTypeQue'ﬁOn')

1. Choose 'the’ correct altemativcs_ for any “ten of the

, follodvingz o ,1'05<,,1'=-‘;10 "

1) * The value of um(1+—1£) is
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ﬂ) | Thcmatrlx A is 'séid"t‘olbe orth.og'c;nal.matrb.t; if
a) det(A)-o b) det(A)ﬂO &
| "  | c) ,"'ATA'_-_.-."I . - d).;. :noneLéi:"t.heSe;'."'
o The focus of y* = 36xis
a) "(:.3,'0-)_:] e ] b) (é_;'o_'i
¢} (8,9) | o ’~d)‘ nc;ﬁéof‘thesé,
. ) Thé’vélueOf:fxe'xdx..;s | S L o A
"é),*xé*L;V ""  ,  b5‘ eﬂx—l)’;:
c) xex,;.#' S hn | d) -noné’(}fthesé,.v
| "v) ,Thé eccéntricity gf'the ellipse 3x2»+1“'}y? - 24 1s
a) o 3

b)

LY

) d)

B ST N
= .
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vi) A matrix‘A is 'sald tb‘vbe'aln idénipotent matrix, if
‘¢) A?r 0 - d noneof these
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| vin) The value of f

_ ix) '1‘he cofactor’or 'c' mthe deterininant h

- x) The"lﬁihct’ien Ulx,y) =
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vu) A functionf(x) 1s sald to be an odd funetion ofx if
f(—x)lsequalto
al -f(x) - .. bA)'»f(x‘.)'.
: ci J(= x) | | d) ,1 

.2s' ..

o I a+x R '-1_x »
a) 2alg a-x T b) SmE

' c) : log x+x +a? d) Q—Ia—'log;::

a

)

g

3+3

a) (_ 1) 3+2

| b)' ™

h

~ d) none of‘these'.

TR NT s

or T

_;a'__in_4_,=- 'S

.> c) 1)2*3‘

(x + y)2
(x - g

is a homogeneous
- functien of degree
‘a0 b
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1 3 1"]

x) Rankofthematrix | - = . .
._.1 Rank of the matr [3v-9 3

is
a0 b1
9 2 @ 3
'me’_l‘,hecunfe.y‘-‘-_l_x]is" |
‘a) - differentiable everywhere

‘b) continuous everywhere

»

¢) discontinuous at x = 0 ,

%]

'd) notdertvable atx=1.
. GROUP-B
- (Short Ankﬁer-i‘ype,guéstioqs) -
. Answer any.three of the following 3 x 5 = 15
2. If f(x)=sin (log %), then find f'(x).

B " |b+c¢ a-c a-b : ‘
3. Provethat|b-c c+a b-a| =8abc. -

- | e-b c-a a+b

4, Evahiatc themtegfail{f,—-—.—;—r—’——z-z-—-' dx. S :
Sy - T 3xT-2x-8 AR

-: l’2/'20057 ; B .4

R S R R T

[ I e ' o I - SET——

- http://www.makaut.com


http://www.makaut.com

http‘://wv.vwv. makaut.com
| CS/BBA(H)/BIRM/BSCM/EVEN/SEM-2/BBA-202/2015-18

5 For the matrix 'A-[f -31] ~ show that

A®-5A+71 .= 0 and hence find A™.

6. Find the equaltlen of the parabola whose ,foeus,;s (2,1)
| 'a‘nddirectrlxis 3x-y+1=0. |

‘lim 1- ~Cco8X

‘ ___7.}‘Evaluate _’0 x"’

GROUP c

(LongAnswer‘lYpeQueetiom)

~Answeranythreeofthefonowmg 3x15 45'
. , , It

ol
-3 |

€

8. a) Obtamn the inverse of the matrix

- W N
"w e

.and hence solve the fc;llowmg system of equations
) v2x+4y Z=9
| 3x+y+22-7 ,
x+3y -3z=4
'b) Show that the vectors a -6, 7, 11), a -(2 1, 3)
. and a, = (3 6. 8) are unearly dependent
R T - L
¥ C) Ifx-acosZt. y-asin2t.thenﬁndv-e-‘;g.‘;7‘+§f5'
C e wyertet ma i

.‘ .2/20057 i 5 o '., ,.'[',Turnfover.

http://www.makaut.com


http://www.makaut.com

' h‘ttp://www.makaut.com
- CS/BBA(H)/BIRM/BSCM/ EVEN/SEM-Z/ BBA-202/2015-16 - ;
: '/_ '. b) 1If y =" log x, prove that xy,-(x-Dy +(x-1y=0
¢} Verify Euler's theorem for the function
f(x_; y)-“x3‘4-y3+3xy2+3x2.y. . 5 + 5+5

—_— SR : 82”“-42‘)‘ ,
. ©10. a) Evaluate [ R dx.
b) Evaluate fe* . x’dx.

¢) If the c‘entré,uvé"r_tex and eccentricity of a hyperbola

1]

| be ,‘( 2, 4), 6. 4) and \5, _then find its equation.

o)

5+5+5
R . o . e 1 | ‘0)3-, V ‘DQ |
11. a)  Evaluate the determinant | ®° = 1+ o |where » .
: : -4 o | e ] '

" is the cube root of u'ﬁlty. '

@
wn

, _ b) Reduce the matrix | 2 4 3 5| to the
T -t 2-6 7| -
- . [2 4 3 5 e
. matrix |0 O 5 -3| by elementary .row

.

I\

'ope_ratiOns.' o
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c) Taking y-axis as rfnajor axis and x-aids as?m'inor‘
}axis find the equation of the elllpse whose sum of

.the squares of the lengths of the rnajor and nmwf
1
‘axes is 20 and eccentricity is —=. 5+5+5

12. a) Evaluate f 14+ 3x* ax.

) ",Find the area of the region bounded by y-4x ; -

. y=0, x-landx 3 ' g_,*
. c) Find thc pomt on the parabola y x at which the
. | -_tangentispa:allcltothehne y-4x,-—5. 5+5+5»
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